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Please write your name as well your student number on the mark-reading sheet This will

enable us to link you to the mark-reading sheet, if you have entered your student number
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Question 1

Solve the following equation

[ 3
2 13
3] 2
4 -2

Question 2

Solve the following cquation
2z — 1) - 3(r+ 1) =122 + 21

D
2 -2
S
W -k

Question 3

Simplhify the following expression

V1616
1 8x®
2] 42!
i3] 8zt
[ art
Question 4

Simplify the following expression as far as possible

202 - (t—3) —26(1 4 x)

n -3z+3
2]  4x? -3z -3
3] 2z —-55+3
4] -3xz-3

Question 5

Simphfy the following as far as possible

T3 u
24 716 32
1 &
2 ¥
BB
4] 3
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Question 6
Sumphfy the following as far as possible
6 N 3 5
I 2 3
2
S
2 2
. 7
B8 5
4 -
Question 7
Sunphtfy the following as far as possible
5 9
9 8 4
&
2 -3
17
B -5
42

Question 8

Determune the LCM (lowest common multiple) of the followng

Ory, 8.1:2, S.nyd

] 18y

[2]  72u%}
3] 432244
(] y
4] T72zy
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Question 9

A father 1s 3 years younger than 5 times his son’s age Suppose the son 15 ¢ years old  Give an expression
in « for the father’s age

1]
(2]
3]
(4]

3+ 5z
3x+5H
5r — 3

3r -3

Question 10

Simphfy the foliowing expression as far as possible

(ot?) (a*0)"

Question 11

X 3m 3m
g A
Lty Lan]

B

(e o]

E &

by [aa]
¥ im 3m

e 12m e

Refer to the sketch above
A rectangular room was turned nto a jacuzz room It s lawd out so that 1t has o crcular jacuzzr i the
muddle of the room and four triangular planting areas i the four coiners The remainder of the 100m

3

1s paved The diameter of the jacuzzi 1s 3 metres and 1t 15 § of o metre deecp The measurements of
the tmangular planting areas are given on the sketch above Calculate the urcumference of the jacuzm
The answer, rounded to one dectmal digit, 1s

(1]
]
|
}

3
4

9.4m
7.1 m?
142m
96,0 m*?
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Question 12

Refer to the sketch in question 11 above
Calculate the arca of the paving The answer, rounded to one decimal digit, 1

[1] 68,6 mn?
2] 84,4m?
[3]  49,7m*
4] 70,9 m?

Question 13

Reter to the sketch m question 11 above
Calculate the volume of the jacuzzi m litres The answer, rounded to one decimal digit, 15

(1 14,1

[2] 212058
3 53

[4] 53014

Question 14
Ifa= %bh, make i the subject of the formula

k=
2] h=1lab
B8] k= 2ab

4] h=a-1b

Question 15

A woman decides to carn some extra money by baking chocolate cakes at home and seling them The
daly fhixed costs are R240 It costs her R60 to bake one chocolate cale and she seils them for R120
cach How much profit does the woman make when she bakes and sells 9 cakes per day”

(1]  R300
2] R540
3 —R1620
[4] R780

Question 16
Determine the equation of the straight e graph which passes thiough pomts (2, ~7) and (1, 4)

1] y=-11

2] y=—llz+15
Bl y=-%

4] y=3r+1

Page 5 of 11



BNU1501
b Oct/Nav 2016

Question 17

Management of a factory offers workers a yeatly wage mncrease of 7,5% The workeis ecaxn R7500 per
month a¢ this stage The amount that the workers will earn per month after the wage mncreasc 1s

[1]  R7507,50
[2] RS 250,00
3]  R562,50

(4] R8062,50

Question 18

You want to buy 10 kg of the cheapest brand of washing powder Washing powder A costs R48,00 for
a 2 kg box and washing powder B costs R125,00 for a 5 kg bag How much will you have to pay for 10
kg of the cheapest washing powder?

(1] R240,00
2] R1250,00
i3] R250,00
[4)  R480,00

Question 19

A man mvest R36 000 at o simple interest rate of 6% per vear How long will 1t take tor this mvestment
to grow to R55 4407

(1] 741 years

[2] 267,0 years

[3] 9 years

[4] 5,84 years

Question 20

A man mvests R12000 at the begmning of cach year at a simple mterest rate of 15% per year How
much will he have 1in {otal at the end of the third year?

(1]  R17400,00
[2]  R46800,00
[4]  R41400,00
[4] R45000,00

Question 21

How long will 1t take to have R30000 for a trip to Europe 1if I mvest R10000 uow at 15% per year,
compounded quarterly ” Give the answer 10unded to one decunal digit

1] 29,8 years

2] 3,3 yoars
[3] 7,5 years
[4] 13,3 years
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Question 22

It your salary has to double every 7 years to keep up with inflation, what 1s the yearly mflation rate, if
salaries mcrease yearly?

1] 99%
2] 1,0%
3 10,4%
[4]  9.8%

Question 23

A farmer needs R250 000 to buy a new 10-tou trailer The bank appioves a loan for the full amount at
an wterest rate of 18% per year, compounded moutlly, and the loan has to be pad off n 5 vears' time
Detertnune the farmer’s minunum monthly payment

[1]  R6348,36
[2]  R520,03

(3] TR2598,46
[4]  R3750,08

Question 24

Refer to question 23 above
What wll the outstanding balance on the farmer’s loan be at the end of the third year, if the interest
rate stays fixed at 18% per year?

[1]  Ri27160,16
(2] R24208742
(3]  R0,00

(4 R92303,20

Question 25

Refer to the farmer’s loan m question 24 above
How long will 1t take to pay the loan off if the farmer pays R7 500 monthly mnto this loan account from
the start? Assume the nterest 1ate stays fixed at 18% per year

1} 1,1 year
2] 2,8 years
(3] 3,9 years
[4] 11,6 vears

TOTAL- 100
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FORMULAS

C=2(+w)

C =4

C=u+b+c

C = 2ar

A=Ixw

A ={?

A= %bh

A= qar?

V=03

V =1xbase x h

V = mr2p

y—yi=mr—xz)

Y—W _Yyz—1m
r— I X3 — Ty

=Mt
S=P(l+rt)
S=P(1+)"

P = Rax,

p_ R[(h”)n_l}

{1+

S = RSﬁH

S:R[(H—z)”lJ

[
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Rough work
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